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Que 8: Three charges 1µC, 1µC and 2µC are kept at vertices A, B
and C of an equilateral triangle ABC of 10 cm side respectively.
What will the resultant force on the charge at C? 
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Que 9: Two charges each +q C are placed along line. A third
charge -q is placed between them. At what position will the system
be in equilibrium?
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Que 10: Two-point charges having equal charges separated by
1m distance experience a force of 8N. What will be the force
experienced by them, if they are held in water, at the same
distance? (given Kwater=80)
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Que 11: Four-point charges QA= 2µC, QB = -5µC, QC = 2µC and
QD = -5µC are located at the corners of a square ABCD of side 10
cm. What is the force on a charge of 1µC placed at the centre of
the square?
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Que 12: A conducting sphere of radius 10 cm has an unknown
charge. If the electric field 20 cm from the center of sphere is
1.5 X 10  N/C and points radially inwards, then what is the net
charge on the sphere?
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Que 13: Two charges +Q and -Q are kept at points (-x2, 0) and

(x1,0) respectively, in the XY- plane. Find the magnitude and
direction of the electric field at the origin (0,0).
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Que 14: Two-point charges +Q and +4Q are separated by a
distance of 6a. Find the point on the line joining the two charges,
where the electric field is zero.

for electric field to be zero


